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Read the instructions and do as directed. 

I. Read the questions carefully. Circle the correct answer. 

1. The answer in division is called the ____________________. 

    (a) Product               (b) Quotient               (c) Dividend               (d) Difference 

2. We cannot divide a number by ____________________. 

    (a) Zero                    (b) 1                        (c) the number itself    (d) 999 

3.  If 8 pens cost ₹ 72, the cost of 1 pen is ₹ ____________________. 

    (a) 576                     (b) 9                         (c) 80                        (d) 720 

4. When 70 is divided by 8 the remainder is 

    (a) 0                         (b) 2                         (c) 4                         (d) 6 

II. Without actual division, find the Quotient and the Remainder for each of  

      the following.                                                        

  Quotient Remainder 

(a) 396 ÷ 10  
 
 
 

  

(b) 396 ÷ 100   

(c) 3096 ÷ 100   

(d)  3090 ÷ 10   
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III. Fill in the blanks with the correct answer. 

1. If 12 x 5 = 60; then 60 ÷ 12 = ______________ 

2. If the divisor = 9, quotient = 7, remainder = 2 then the dividend = ______________ 

3. When a number is divided by itself, the quotient = ______________ 

4. 3500 ÷ 35 = ______________ 

5. ______________ ÷ 20 = 20 

6. If 2,800 sweets are equally packed in 28 boxes, then each box contains   

     ______________ sweets. 

IV. Match the following columns. 

 Column A  Column B 

1. 425 ÷ 1 (a) 65 

2. 65 ÷ 65 (b) 93 

3. 130 ÷ 2 (c) 1 

4.  930 ÷ 10 (d)  30 

5. 900 ÷ 30 (e) 425 

 

 

       

 

 

 

 

    Answer: 1. ____        2. ____        3. ____        4. ____          5. ____          

Working space: 
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V. Rekha divided 648 by 47 and got Q = 13 and R = 37. Check if she got the  

     correct answer or not. 

________________________________________________________________________ 

________________________________________________________________________ 

________________________________________________________________________ 

________________________________________________________________________ 

________________________________________________________________________ 

________________________________________________________________________ 

 

VI. Divide and check your answer.                                                   

                                          4796 ÷ 19 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Checking 
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VII. Solve the following story sums. 

1. For the school excursion, one teacher was allotted to care for a group of 23 children. 

How many teachers were required if 276 children went on the excursion?  

  

 

 

 

 

 

 

 

2. There are 3825 stickers in 5 boxes. If each box contains the same number of stickers,  

    how many stickers does each box have? 
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